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1. Match the number sentence to the picture or to the number bond.

13 10-7=3
a. 13-7= \
10 3 3+3=6

b. 16 - 8 = IR WIER W W
w

c. 11-8= 13 10-8=2
\
10 3 2+3=5
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2. Show how you would solve 14 - 8, either with a number bond or a drawing.

10. Then subtract.

3. Milo has 17 rocks. He throws 8 of them into a pond. How many does he have left?
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Milo has rocks left.
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Draw and O. Then, subtract.

4. Lucy has $12. She spends $8. How much money does she have now?

Lucy has $ now.

Draw and@O, or use a humber bond to break apart the teen number and subtract.

5. Sean has 15 dinosaurs. He gives 8 to his sister. How many dinosaurs does he keep?

Sean keeps dinosaurs.

6. Use the picture to fill in the math story. Show a number sentence.
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Olivia saw clouds in the sky. Try itl Can you show how to solve
clouds went away. How many this problem with a number bond?

clouds are left?
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Answer Key

1. a. 6; matched to first picture

b. 8; matched to hearts

c. 3; matched to stars

d. 5; matched to third picture

Number bond or drawing to match number sentence; 6
10 circled; 17-8=9;9

10 circled; 8 crossed off; 12—-8=4; 4

Number bond or drawing; 15-8=7; 7

18, 8; 18 — 8 = 10; number bond showing 18, 10, 8
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